INSTALLATION

| SNAP-N-GO DRINK HOLDER 1460 |

PARTS INCLUDED

CUSTOMER SERVICE
877.370.3604 (toll free)

1 Snap-N-Go Drink Holder Ring INSTALLATION QUESTIONS
1 Beverage Carrier techsupport@kuryakyn.com
. o) g A N or call 715.247.2983
am ssem

1 Hard‘,\,‘-:,rlz3 Kit Y LIMITED WARRANTY
" n Kiryakyn warrants that any Kiryakyn products
1 1/4 -20 x 2-1/4 Hex Head Cap Screw sold hereunder, shall be free of defects in
1 M6 x 1 x 60MM Hex Head Cap Screw materials and workmanship for a period of one
1 1/4"-20 x 2-1/2" Hex Head Cap Screw (1) year from the date of purchase by the
1 Spacer consumer excepting the following provisions:
1 Clamp Accessory Mount Spacer e Kiryakyn shall have no obligation in the event
1 1" Sleeve thg customer is unable to provide a receipt
" showing the date the customer purchased the
2 1/4" Wave Washers product(s).

1 Aluminum Washer
oTh d b | lled
I 1/47-20 Acom Nut Rt ks
1 Installation Instructions normal conditions.
Please read and understand entire instructions before starting installation. eKiiryakyn makes no warranty, expressed or
THANK YOU FOR CHOOSING KURYAKYN! Implied, with respect to any gold plated
eKiryakyn shall not be liable for any
IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR consequential and incidental damages, including
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL o e e e
INSTRUCTIONS, WARNINGS, CAUTIONS AND NOTICES REGARDING THE USE delivery, delivery in nonconforming condition, or
AND CARE OF THIS PRODUCT. for any breech of contract or duty between

Kiryakyn and a customer.

_ THIS INDICATION ALERTS YOU TO THE FACT THAT eKiiryakyn products are often intended for use in
IGNORING THE CONTENTS DESCRIBED HEREIN CAN specific applications. Kiryakyn makes no

warranty if a Kiryakyn product is used in

RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. applications other than intended.

eKiryakyn electrical products are warranted for

This indication alerts you to the fact that ignoring the one (1) year from the date of purchase by the

NOTICE contents described herein may negatively affect product consumer LED-S contained in components of
. . . yakyn products will be warranted for defects

performance and functionality or damage the product itself in materials and workmanship for 3 years from

or the product it is being attached to. the date of purchase where as all other

components shall be warranted for one(1) year.

.. . . . . This includes, but is not limited to; control

A CAUTION ThIS |ndlcat|0n alerts y0U to the faCt that |9n0r|n9 modules, wiring, chrome & other components.
the contents described herein can result in minor or eKiiryakyn makes no warranty of any kind in

moderate potential injur—y' regard to other manufactureris products

distributed by Kiryakyn. Kiryakyn will pass on
all warranties made by the manufacturer and
where possible, will expedite the claim on behalf

TOOLS SUGG ESTED of the customer, but ultimately, responsibility for
Set of Combination Wrenches, Set of Hex Wrenches, Set of Torx Wrenches disposition of the warranty claim lies

with the manufacturer.
STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE ABOUT OUR CATALOG
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS. For purchasing Kiryakyn® products, you

can receive a complete catalog free of charge.

(Y7531 o] =B IF INSTALLING THIS PRODUCT FOR ANOTHER PARTY, T
PLEASE MAKE SURE THEY RECEIVE THIS COPY OF THE Somerset, WI 54025.
INSTALLATION INSTRUCTIONS SO THEY ARE AWARE OF T o S

Harley-Davidson® or GL & Metric Cruisers.
THE IMPORTANT INFORMATION CONTAINED IN THEM.

Be sure to ask your local dealer about other
Kiryakyn® products, the motorcycle parts and
accessories designed for riders by riders.

STEP 1 Read and understand all steps in the instructions before starting the ) -
installation. Park the motorcycle on a hard, level surface and turn off the ©2005 Kiryakyn USA® All Rights reserved.
ignition.

NOTE: Universal for 1” bar application, for clutch and brake perch
applications. Universal Beverage Carrier will accept most average sized
cups, cans, bottles, and mugs with a 2-3/8"” to 3-1/2" diameter.

1460-22MC-0713 -cont.-



Ensure that the installation of this product does not interfere with the U, I
A CAUTION P Kuryakyn

proper operation of the motorcycle before riding.

NOT’CE Avoid damage to the motorcycle. Protect painted surfaces
with a soft cloth or blanket.

It is the installer’s responsibility to ensure that there is

NOT’CE adequate clearance between the Snap-N-Go Holder and any
painted surfaces. Kiiryakyn is not responsible for any damage
due to inadequate clearance.

NOT’CE Be aware of any cables/wires that could potentially be
pinched or crushed while using this product.

STEP 2 Place a clean, soft blanket over the gas tank to protect the paint.

PIC 1 |wall WAVE WASHERS |8 \| 2-1/4" HEX HEAD

~ CAP SCREW
AY VS

NOTE: The Snap-N-Go Drink Holder has two different mounting options.

MOUNT OPTION 1: use the 1” clamp on the handle bar

STEP 3 Attach the Drink Holder 1” clamp to the handle bar with the two screws [# y ',1'
and nuts provided in the kit. PIC 1 X ’ ‘-
- . 1" SLEEVE
STEP 4 Install the 1/4-20 x 2-1/4" hex head cap screw, 1” sleeve, and a wave
washer through the clamp. PIC 1 e
7 - -
. 2-1/2" HEX HEAD
STEP 5 Use another wave washer and the acorn nut to secure the bolt to the - - ,
clamp. PIC 1 P
STEP 6 Slide the Snap-N-Go Holder over the bolt and sleeve. Line up the head of the bolt with the cut out

on the bottom side of the drink holder, and snap it into place.

STEP 7 Turn the handlebars in both directions to their full stop position and ensure that there is clearance
between the Snap-N-Go Holder and the gas tank, dash and other accessories.

AWAHNING ENSURE THAT THERE IS CLEARANCE AT ALL POINTS WHEN THE

HANDLEBARS ARE TURNED, INSUFFICIENT CLEARANCE MAY CAUSE
DAMAGE TO THE MOTORCYCLE OR CAN CAUSE LOSS OF CONTROL THAT
COULD RESULT IN SEVERE INJURY OR DEATH.

STEP 8 Tighten all hardware.

AWAHNING TO PREVENT POSSIBLE LOSS OF CONTROL, WHICH COULD RESULT IN A
POSSIBLE INJURY OR DEATH, WE DO NOT RECOMMEND REMOVING AND
REPLACING OBJECTS IN THE HOLDER WHILE RIDING THE MOTORCYCLE.

NOT’CE Do not overload the Snap-N-Go Ring/Beverage Carrier with excessive weight.

NOT’CE Ensure that the Snap-N-Go Ring is secure on the Mount and that the Mount is

secure on the motorcycle. Kiiryakyn is not responsible for any belongings that are
stolen or damaged from use of this Drink Holder or from the Snap-N-Go Ring or
Mount not being properly secured to the motorcycle. 1t is the installer’s
responsibility to ensure that all of the fasteners (including pre-assembled) are
tightened before operation of the motorcycle. Kiiryakyn will not provide warranty
coverage on products or components lost due to improper installation or lack of
maintenance. Periodic inspection and maintenance are required on all fasteners.

PAGE

2
[SNAP-N-GO DRINK HOLDER INSTALLATION ]

-cont.-




MOUNT OPTION 2: Mounting to clutch or brake perch.
STEP 9 Remove the top fastener from the clutch or brake perch mount.

STEP 10 Identify the correct screw, either the metric or standard, by comparing
threads on the included hex head cap screws to the threads from the
screws that were removed. The 1/4”-20 X 2-1/2" screw is used on Y
Harleys and the M6 X 1.0 X 60mm on Metric bikes. Install the verified hex |;
head cap screw with the 1” sleeve and aluminum spacers in place of the
fastener that was removed in Step 9. PIC 2 Tighten securely.

STEP 11 Slide the Snap-N-Go Drink Ring over the bolt and sleeve then line up the
head of the hex head cap screw with the cut out on the bottom side of
the drink holder, and snap it into place.

OUTSIDE TO INSIDE

STEP 12 Turn the handlebars in both directions to their full stop position and
ensure that there is clearance between the Snap-N-Go Holder and any component on the bike.

AWAHNING ENSURE THAT THERE IS CLEARANCE AT ALL POINTS WHEN THE

HANDLEBARS ARE TURNED, INSUFFICIENT CLEARANCE MAY CAUSE
DAMAGE TO THE MOTORCYCLE OR CAN CAUSE LOSS OF CONTROL THAT
COULD RESULT IN SEVERE INJURY OR DEATH.

AWAHNING TO PREVENT POSSIBLE LOSS OF CONTROL, WHICH COULD RESULT IN A
POSSIBLE INJURY OR DEATH, WE DO NOT RECOMMEND REMOVING AND
REPLACING OBJECTS IN THE HOLDER WHILE RIDING THE MOTORCYCLE.

NOTICE Do not overload the Snap-N-Go Ring/Beverage Carrier with excessive weight.
NOT’CE Ensure that the Snap-N-Go Ring is secure on the Mount and that the Mount is

secure on the motorcycle. Kiiryakyn is not responsible for any belongings that are
stolen or damaged from use of this Drink Holder or from the Snap-N-Go Ring or
Mount not being properly secured to the motorcycle. 1t is the installer’'s
responsibility to ensure that all of the fasteners (including pre-assembled) are
tightened before operation of the motorcycle. Kiiryakyn will not provide warranty
coverage on products or components lost due to improper installation or lack of
maintenance. Periodic inspection and maintenance are required on all fasteners.

BEVERAGE CARRIER INSTALLATION

STEP 13 Hold the Beverage Carrier under the Drink Ring. As shown in PIC 3, each of the three straps will
go around the drink ring from the outside to the inside.

STEP 14 Snap each of the three arms to the snaps (PIC 3) located inside the drink holder.

AWAHNING TO PREVENT POSSIBLE LOSS OF CONTROL, WHICH COULD RESULT IN A
POSSIBLE INJURY OR DEATH, WE DO NOT RECOMMEND REMOVING AND

REPLACING OBJECTS IN THE HOLDER WHILE RIDING THE MOTORCYCLE.

Ensure that the Snap-N-Go Ring is secure on the Mount and that the Mount is
secure on the motorcycle. Kiiryakyn is not responsible for any belongings that are
stolen or damaged from use of this Drink Holder or from the Snap-N-Go Ring or
Mount not being properly secured to the motorcycle. 1t is the installer’'s
responsibility to ensure that all of the fasteners (including pre-assembled) are
tightened before operation of the motorcycle. Kiiryakyn will not provide warranty
coverage on products or components lost due to improper installation or lack of
maintenance. Periodic inspection and maintenance are required on all fasteners.

NOTICE

NOT’CE Do not overload the Snap-N-Go Ring/Beverage Carrier with excessive weight.

Ride On/

PAGE

3

[SNAP-N-GO DRINK HOLDER

INSTALLATION ]




